Subject: Re: Accessto S_* Structure of TABLE crash Application.
Posted by Sender Ghost on Thu, 17 May 2012 09:32:16 GMT

View Forum Message <> Reply to Message

sergeynikitin wrote on Thu, 17 May 2012 10:51
OK! Please say from what table DUMP(SQL[NAMEY]) read data in read cycle

| think, it depends from current select. Based on the logs, by the selection order:

SQL[0] from WORKER.NAME
SQL[1] from WORKER.LASTNAME
SQL[2] from PLANT.NAME

SQL[3] from PLANT.ADDRESS

Therefore, SQL[0] == SQL[NAME] from WORKER table here. It's like finding index by the Sqlld
name.

sergeynikitin wrote on Thu, 17 May 2012 10:51

Where went easily-readable code U++?

In this case it is better to write

WRK_NAME and PLA_NAME

(Exceptions are cases when not myself create the Database, and connected into the already
existing DataBase.)

Agreed, this might help also. | just did it with my current understanding of the U++ source code.
sergeynikitin wrote on Thu, 17 May 2012 10:51

PS

By the way, sorry for the tone (if it seemed overpriced).

Nothing personal. | treat you with great respect.

No problem. Interesting topic.
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